
Math 121 Self-Assessment Practice Worksheet #3 Week 3

• Please see the course webpage for the answer key.

Compute each of the following Limits. Justify.

1. lim
x→0

cos(4x)− 1− arctan(4x) + 4x

ln(1− x) + arcsin x

2. lim
x→0

1− e−3x − arctan(3x)

x2

3. lim
x→∞

(
1− 2

x3

)7x3

4. lim
x→∞

(
arcsin

(
1

x

)
+ e

1
x

)x

5. lim
x→∞

(
1− arctan

(
3

x4

))x4

6. lim
x→0+

x3 lnx

Compute each of the following Intregals. Justify.

7.

∫
lnx dx

8.

∫
arctanx dx

9.

∫
arcsinx dx

10.

∫
ln
(
x2 + 9

)
dx

11. Show that

∫ √
3

0

x arctanx dx =
2π

3
−

√
3

2

12. Show that

∫ e4

1

lnx√
x

dx = 4e2 + 4


